Assembly Instructions For The 44” Poly Bar or Dining Table

Tools Needed For Assembly: Parts List: Hardware: _

7/16” Wrench Table Top (1) 1/4” x 1-1/2” Lag Bolts (4)
7/16” Socket Leg Column (1) 1/4” Flange Nuts (12)

Power Screwdriver Table Feet (4) 1/4” Washers (4)

#2 Square Drive Bit Table Braces (4) 2"Polybuster Screws(4)
Step 1 Unpack and identify all parts and pieces. Lay a piece of cardboard on your work

Step 2

Step 3

Step 4

Step §

Step 6

table or floor to prevent scratching your table top.

Set the leg column upright with the 2 predrilled holes on each side toward the top.
Attach the table feet to the leg column by inserting the bolts in the feet into the
holes on the leg column and put on the 1/4” flange nuts. Tighten securely with the
7/16” wrench or socket. Note: The bottom of the feet need to be turned up
when attaching to the leg column.

Now turn the leg column around and put the feet down on the floor. Attach the
table braces to the column by inserting the hanger bolts on one end of the braces

into the other predrilled holes in the leg column. Put a 1/4” flange nut on each bolt
and tighten securely.

Put the table top upside down on the cardboard. Now place the end of the leg
column with the braces into the 6"square frame in the center of the table top.
Make sure the leg column is seated squarely inside the frame. Fasten with the

four 2" screws by turning them through the predrilled holes in the poly frame.
Do not overtighten the screws or they will strip!

Attach the braces to the tabletop by putting a 1/4” washer on a 1-1/2” lag bolt and
turn in through the predrilled hole in the other end of the brace into the bottom of
the table top. There are no predrilled holes in the table top, the lag bolts will not

pull tight with predrilled holes. The lag bolts are self-drilling, just turn into the
boards. Do net overtighten.

Set the table upright, pull up some chairs and enjoy!




